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General Instructions:

1. This question paper contains 34 questions.

Marks are indicated against each question.

Answers should be brief and to the point.

Answers to the questions carrying 3 marks may be from 50 to 75 words.
Answers to the questions carrying 4 marks may be about 150 words.
Answers to the questions carrying 6 marks may be about 200 words.
An internal choice is available in Que 23,24,29,30,33,34.

Nk wbd

1. O Th GEAT & T fAHmer &7 gaud o W@ ¢ Oeangay & g T W
BIH BT T &2 (1)
(@) faF &R
(1) 3= TR
(€l AT TR
(1) AT FAR
Sanya is managing the Finance department of an organization. At which level of
management Sanya is working?
(A) Lower level
(B) Top level
(C) Middle level
(D) Shop floor

2. Ts gufaat & A9 fopw uyeR & Aoty & ®q # S Jar g2 (1)
(T) Qe ST
(@) g gaifear
(&) Frafrer geit Aot
@) foa cgawar Aok



Investment in fixed assets is known as which type of decision?
(A) Capital Structure
(B) Capital Budgeting
(C) Working Capital decision
(D) Financing decision

3. gy 2023 H, HUAT BT 32T a§ 2022 H Joraar A FHH F 10% H gfg wear &
Ig BT g§Y N Fa RAAVAr o gehrer srerar §2 (1)
(V) g9 U 3 Afeh §
@) UdY T &Y SeAW UhAT §
@) ydy gueh
@) Y& TH Fdd AT §
“In 2023, the company’s objective is to enhance the sales by 10% as compared to
the year 2022 The statement highlights which feature of management?
(A) Management is an intangible force
(B) Management is a goal-oriented process
(C) Management is pervasive in nature
(D) Management is a continuous process

4. . aERAe UATIIOT & HAecd o Ugdld H: (1)
(T) 37T T Tgald A 3R UUHF UEATddh & oIt UTd el H Jerdd
COEIGIERG
@) o FA D
@) e FA

Identify the valid importance of Business Environment:
(A) Enables a firm to identify opportunities and getting first mover advantage
(B) Uncertainty
(C) Delay in action
(D) Pervasive function

5. TArAfei@a & & fra da9a doedie # 3fdaa adiemua g2 (1)
@) fasmua
@) TErR
@) forg @ada
@) cafhara fasa



Which of the following promotion technique has maximum flexibility?
(A) Advertising
(B) Publicity
(C) Sales promotion
(D) Personal selling

. IR Fgd STedl-oTedl B ¢ & 3R 3ah ar # wfasgarol e giend ¢-
3H HYS H GRS dararaRer Hr g IAWAT W Yhrer srem -7 82 (1)

@) fafaar

@) Sfeeran

(@) IHAR-Feagdr

(3Y) |mgeTdr

Which characteristic of the business environment is highlighted when changes
are taking place too frequently and it becomes difficult to predict the future?
(A) Uncertainty
(B) Complexity
(C) Inter-relatedness
(D) Relativity

. ORI, T UdYdh & IS Y UihaT &1 [Asurea oear &1 usel & AuRa araanit
& HFIR fhu S arel B & dgara AR AT & & 9 38 Gored gfhar

&% fFE TROT A F B ITAIHAT Eof? (1)
(@) P 6 ggaa IR s

(@) TasmefeoT

(@) P diuar

@ Rafésr gag vufta &

Tara, a manager has to perform the process of organizing. Which step of the

process will he need to perform after identifying and dividing the work that has
to be done in accordance with previously determined plans?

(A) Identification and division of work

(B) Departmentalization

(C) Assignment of Duties

(D) Establishing Reporting Relationships
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10.

>Ra AT 7 e GO cgaaT # & TIP & (1)
(T) oA

(@) HHASAY

(@) TRerer

@) wfa

Sufficient working capital is the indicator of ......... in the business:
(A) Profits
(B) Weakness
(C) Liquidity
(D) Loss

el ey &1 9 Hifaw - (1)
PHYT 1: UdY IS gl

FI 2: [T & wy-ary R-Tefig @ea=t # off gag i 3maeasdar adr &l
(T) YT | FI & Afhed HAA 2 IAd

@) =t FUT 3\ B

(@) 3Gl FAT T § Afhed Gl BT Th ga & YT Pls FaY el o

@) S AT T & 3R PAT 2 A HYF 1 ¥ vy forar = g

Choose the correct option:

Statement 1: Management is pervasive.
Statement 2: Management is required in financial as well as non-financial
institutions.
(A) Statement 1 is true but statement 2 is false.
(B) Both the statements are false.
(C) Both the statements are true but have no relation with each other.
(D) Both the statements are true and statement 2 has been concluded from
statement 1.

drr T 9T f[Adeul #H F T [Adhed &1 IIa HIfoIv: (1)
YT 1: URAGA TAT FAT TR I H FeIP ¢ 3R HSROT TaT T
IUAATT a1 HA Tedh &l

HIA 2: 3T Hifdd [AaRoT T FHAT SUAFPNAT & ATT-T1A TATA TR
&l o el B

(T) BT 18T & 3R 23197 &

(@) PUT 28T T 3R 1378T B



11.

12.

13.

14.

15.

16.

17.

18.

() aral BUF T B

(&) Qi HAA IHHT B

Choose the correct option:

Statement 1: Transportation helps in creating time utility and warehousing
helps in creating place utility.

Statement 2: Good physical distribution strategy enhances time as well place

utility.
(A)  Statement I is true and II is false.
(B)  Statement II is true and I is false.
(C)  Both the statements are true.
(D)  Both the statements are false.

HGAT & HHATSID dTATeRYT BT Th 3ETe0T Gl
Give one example of social environment of business.

A3IMSTH (BIS) H QOUT ¥U ford |
Write full form of BIS.

‘TG & TIEIR” H FAT 31T 82
What is meant by the term ‘Span of Management’?

FOT FAT 3JUd & aR # AT A GAT qreAr=ad: 30t H Jerer

While deciding about debt equity ratio, generally ............. are considered
to be cheaper than shares.

T HUT- @ af¥cd = .........

Current Assets- Current Liabilities=............

AFIIT HIH BT T HFCAT o YT T STl &

Tube container of shaving cream is an example of .................. packaging.

TR, 2 I eEar & Jafh PAIeaT................ &@ar gl |

HRA H AlCIET Blefell ardTaroT Bl JHTT &1 (HT/ 31T)
Demonetization in India is the effect of legal environment. (True/False)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)



19. VAR, Ga¥d fHH0T &1 HIar T S arer Uy ®1 (T / 38Y) (1)
Publicity is the paid form of promotion mix. (True/False)

20. SIAMERY, 3RIT SUR <FaeR &l U 3aedol &l (Fcd/318cd) (1)
Hoarding is an example of unfair trade practices. (True/False)

21.  "fAgTheptul Ueh cHaTeUd Uiehar & foidad TROM &l Ueh Aol AfH &1"
foeaR & auia &1 (3)

“Staffing is a systematic process involving a series of steps.” Elaborate.

22.  'USY &I Th @YU A AT ST | FAT T 56 HAT H A o7
FIT U FAT AG? (3)
“Management is regarded as a perfect science”. Do you agree with this
statement? Why or why not?

23. TAST fp forg upR fATFor "decdk ereag” iR "deaR A &
HETD &2 (3)
Explain how controlling helps in achieving “Better co-ordination” and
“Better planning™?
AYdar
OR
‘A 3R Ao & = g iR Auda oreaRe dday 1" dua @
AT |
“There is a close and reciprocal relationship between Planning and Controlling.”
How does the statement hold good?

24. “TIRIU & I HITATA AT AHGID & FIT AU 3H HUT § HeAd &7 T
3R & gAIT H PR AT 3)

“It pays to advertise”- Do you agree with this statement. Give reasons in support
of your answer.

31yar
OR

Rafof@a fhr gada goaet H carear #i:
(T) 3curg FIete
(&) TART B JIT ATH



25.

26.

27.

28.

29.

30.

(H) ATE 3UER
Explain the following sales promotion techniques:
(A) Product combination
(B) Usable benefits
(C) Quantity gift

"JATATRS e rared, FTAIRe Feor@eed H Hdd AR d PWeb ol Iqars
IR & HAecd DI ITEAT HifaT| 4)

“Informal communication supplements the formal communication in many
ways.” Explain the points of significance of grapevine communication.

T ugaa & 3eaila i Ao o fiear @ gassu| (4)

Explain in detail the dividend decision under financial management.

SUHIHT TRETT HATATH & Heqstd QU v suser AfASRT Hr &y aaw 3R
faeca avfa #Y? )

List and elaborate the consumer rights given under Consumer Protection Act?

AT W TAUR DI Th 3610l DI Jerddl d AT (4)
Explain the term Trading on Equity with the help of an example.

ATEAT & ARl TTATHBAT haT &b Hga I qr&aT | (4)

Elucidate Maslow’s need hierarchy theory of motivation.

JYar
OR

& F&@ g7 3R guiT H
List and elaborate any four non-financial incentives used for motivation of
employees.

ydt & foreel & g Ial & e e 3R carear fifaw) (4)

Name and explain any two external sources of recruitment.

31yar
OR

ufdreror Y Aeafaf@a Rfat &1 gvia .
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31.

32.

33.

34.

(T) UG dcell
(&) gersemer ufdretor

Describe the following methods of training:
(A) Job Rotation
(B) Vestibule training

3TaiRe 3R ElTaRe e & aRea &Y 3R 3iaR ford| (6)

Compare and contrast a formal organization with an informal organization.

ot f@sror ar &2 RAgora Fsor & [Affea gcal & carear fifau) (6)

What is Marketing mix. Elucidate different elements of marketing mix.

Af3, 3227 3k BH @ FA A T2 uRP &1 Jereor ffav ik v Tufa #
P &l 3R IdABT| (6)

How a Policy is different from an Objective and a Rule? Give example of each
and state any two differences in each case.

3Yar
OR

“Planning is not a guarantee of success of business.” Comment.

S GRT &1 I8 I Gag &y AeaATaf@&d daeiiet 3 & fhegl i dabeer &hr
&g H IrEAT A (6)

(T) S e

(&) fraTcas BRAT=RM

(&) ATADIRIOT

(1) TaASTcHD HsIgl YTl

Briefly explain any three of the following techniques of Scientific Management

as given by F.W. Taylor:
(A) Method study
(B) Functional foremanship
(C) Standardization
(D) Difterential piece wage system
3Ydar
OR

T8 BT gRT U 9v weay & Reafafaa R d ¥ el 9 Rgiat fr

9



qaT H Iredr Hifa:
(T) 3G & Tehell
(dY) FHAT
(1) TRt
(31) Ueel
Briefly explain any three of the following principles of management given by
Henry Fayol:
(A) Unity of command
(B) Equity
(C) Remuneration
(D) Initiative

A
v
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